## Construction division. Advice for giving credit to contractors/suppliers.

	o. – site bills	2A	42		Date Regis	- site b	ills	08-11-	2093
regis Com	pany Name:		Rhv		Site:	ster	8. 11	BRG	
	e of Contractor		rochand					•	
Natu	re of work		Thing						
Wor	k done		Date	01-	-11-2	23 T	o Date	07-1	11-23
Sl. No.	Villa/Flat/block no	). (	Qty.	Rate		Units	Amou	ınt	Contractors bill no
1.	216		695	3		Sft	22,	240	
2.			461	3		Sta	16,	169	
3.			30	2		Aft		750	
4.			20	Q	7	att	-	540	×
5.									
6.									
7.							-	_	
8.									
9.									
10.		. 1					-	100	
11.		otal:			COT	1 '11		699.30	
	required		ES ₽NO.			bill requ	-	□ YES,	
	surement &		quired			surement ate shee		Enclos	
	nate sheet: WO no.	□No	t required			VO date:		□ Not er	closed
		0	·		10/1	v o date.			
Rem	arks: Wenk (c	mple	L						v
		•							
								-	
App	roved by Project Ma	nager	Appro	oved b	y Desi	gn Tean	n App	proved by	M.D.
Date	APPROV	ED	BY Date:				Dat	e:	
Sign		Sing	– Sign:				Sign	n:	

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey join which is taken at the rates are clearly given.

Asst. Project Manager 1997.

## Allowance For Consumables Tarachand MUHARPALLY Hyderabad

Date 08-11-2023

			•
In	favo	or o	t:

MRGV

Project/Site:

**BRGV** 

Location:

YANAKA PALLY

Type of Work:

**TILING WORK** 

Towards:

Allowance For Consumables

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	
			7 020 00
			7,939.86
	Total amount:	39,699.30	

Amount in Word: Seven thousand nine hundred thirty nine rupees only/-

## Labour Charges Tarachand MUHARPALLY Hyderabad

Date 08-11-2023

_	•			
In	+-	MA	O.t	
	ıa	vu	U	

MRGV

Project/Site:

**BRGV** 

Location:

**MUHARPALLY** 

Type of Work:

**TILING WORK** 

Towards:

**Labour Charges** 

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	
195			15,879.72
			13,073.72
	Total amount:	39,699.30	

Amount in Word: Fifteen thousands eight hundred seventy nine rupees only/-

Sign:	
Sign:	

## Allowance For Equipment Tarachand

MUHARPALLY Hyderabad

Date 08-11-2023

In	favor	of:	
•••		• • •	

MRGV

Project/Site:

**BRGV** 

Location:

**MUHARPALLY** 

Type of Work:

**TILING WORK** 

Towards:

Allowance For Equipment

S.No.		Discription	Amount
1	Breif discription of work	done: Towards doing tiling work	
			15,879.72
	Total amount:	39,699.30	¥.

Amount in Word: Fifteen thousands eight hundred seventy nine rupees only/-

Cian.			
Sign:			

39,699.30	Total					
540.00	27	Ŧ	20.00	Chamfaring of the granite patti		
750.00	25	큵	30.00	Granite patti work + ledge wall top +Balcony		ω
16,169.30	35	sft	461.98	TOILET & Utility Floor & wall		2
22,240.00	32	sft	695.00	Flooring tilies work including skirting	216	1
AMOUNT	RATE	STINO	QUANTITY	ITEM DISCRIPTION	ITEM HEAD	SL NO
AXB	В		Α			
				Tarachand	OR NAME	CONTRACTOR NAME
				08-11-2023		DATE
				SYED GOLAM SARWAR	3Y	PREPARED BY
				TILING WORK	RIPTION	WORK DISCRIPTION
			SIGN:	BRGV		PROJECT
			APPROVED BY	MRGV	VAME	COMPANY NAME
						<b>ESTIMATE</b>

COMBANY NAME		MRGV			APPR(	APPROVED BY		
PROJECT		BRGV				SIGN:		
WORK DISCRIPTION		TILING WORK						
PREPARED BY		SYED GOLAM SARWAR						
DATE		08-11-2023						
CONTRACTOR NAME		Tarachand					2	-
			D	8			CHANDACAD	STIMI
SL NO	ITEM HEAD	ITEM DISCRIPTION	LENGTH	WIDTH	HEIGHT		QUANTITY	ONIO
-	216	M. BEDROOM	11	10	1	Р	110.00	S-Y
1		C. BEDROOM	10	10	1	1	100.00	SFI
		DRAWING & DINING	15.66	10	1	1	156.60	SFT
		PASSAGE	7.66	2.5	1	ь	19.15	SFT
		KITCHEN	9.5	5.5	ъ	ב	52.25	SFT
		BAICONY	ω	10	ъ	Ľ	30.00	SFT
		Skirting	226	1	1	1	227.00	RFT
						Total	695.00	SFT/RFT
2		Toilet 1 - Floor tiles	5	6.66	1	1	33.30	SFT
		Wall tiles	23.32	1	7	L	163.24	SFT
		Door deduction	2.5	7	1	1	-17.50	SFT
		Toilet 2 - Floor tiles	7.5	4.16	1	1	31.20	SFT
		Wall tiles	23.32	ъ	7	Р	163.24	7
		Door deduction	2.5	7	ъ	ь	-17.50	SFI
		Ventilator deduction	7.5	4.16	1	1	31.20	SFT
		UTILITY	5	4.16	1	1	20.80	SFT
		U tility wall tiles	18	1	3	1	54.00	sft
						Total	461.98	SFT
ω		Granite patti work + ledge wall top +Balcony	30	1	1	1	30.00	RFI
•		of the second parti	20	_	_	ш	20.00	7

. .